(01722 @»»d» ECOn000IHIDI00Flanged H-Model Linear Guides

| 4-Mxg,

Ho
[ ]
v
0 1500 EGH-F, MEGH-F, EGH-FL, MEGH-FLO OO OGOGQOGQ
oooooo ooooo Ooo0ooOoOooooooo ooooo
ooo ooog H H, | T, W L w L L, F |Mx¢,| S T h P
EGH15F MEGH15F 59 40.2
EGHISFL MEGHISFL| 24 | 33 |16 | 47 55| 38| 30 [4,5{207 | M5x7 | M4 | 15 13 | 60
EGH20F MEGH20F 70 485
EGH20FL | MEGH20FL 30 45 |1215| 63 %8 53 | 40 765 255 | M6x9 | M5 | 20 |[16.3| 60
EGH25F MEGH25F 80 57.5
EGHoSFL | MEGH2SFL | 26 | 58 | 235 | 70 ool 57| 45 [geq| 302| MB<10 | M6 | 23 |192| 60
EGH30F MEGH30F 95 67.8
EGH3oFL TmEGH3orL] 2 | 7 |3 | © (il 72| 52 [g3g| 3 |Mox11| M8 | 28 | 228 | 80
EGH35F MEGH35F 112 80.5
EGH3SFL | MEGHISFL | %8 | 75 |33 | 100 o7 82| 62 [, 405 |MI0x13| M8 | 34 |26 | 80
EGH45F MEGH45F 129 94
EGHASFL | MEGHASFL| 60 | 89 | 375 | 120 27 100 | 80 = 511 |MI2x 155/ M10 | 45 | 311 | 105
015100000000
oooooo OOooO000O0oO
190 590 1090 15‘00 2090
EGH15F 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
MEGH15F 1
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH20F 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
MEGH20F —
200 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH25F 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
s e
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
EGH30F 280 440 600 760 920 1080 1240 1400 1560 1720 1880
MEGH30F " 360 520 680 840 1000 1160 1320 1480 1640 1800 1960
EGH35F 280 440 600 760 920 1080 1240 1400 1560 1720 1880
MEGH35F " 360 520 680 840 1000 1160 1320 = 1480 1640 1800 = 1960
EGH45F 570 780 990 1200 1410 1620 1830
MEGH45F " 675 | 885 1095 1305 | 1515 1725 1935

* [HERALEE - R7YY, L—LIZERRBIOLLEBEELTEYET.

0000 | EGH30F OCG 02 x1400

ooo 00000 (Lo
pgooooooo0oooooooo
oooo
=3
: Wis | BEII—R HG | @miu—=x |

\
CG sy—5)—2 || FG | &RIIJ—Z |
218 VG HETJ—R %5 —ROEHKPISE




EGH-F, EGH-FL series qeq@® (02X

N L

Lomax

EGH-F : RAVE—K4a4(F

) EGH-FL : AT 547

B :mm
ooo OD0OD0O0OO00D |D0000O0 (000000000 |00000| 000
© C | My | My | M, | OD oo
G Dx dx f | Lo | 000 | t N |0 kNO |0 kNOD kNImI kNOm kNOm0 O kgD |0 ke/mD
9.04 | 14.46] 007 | 0.05 | 0.05 | 021 1.28
20| 75 45<6 | 4000 | MAx 07| 55 |0880 3505011 | 012 | 012 | 0.29 128
1544 | 21.31| 0.22 | 018 | 0.18 | 040 215
20 | 9.5<6 x85 4000 | M6x1 | 7.1 \O120 1= 25T 036 | 0.46 | 0.46 | 061 215
2127 | 2951 035 | 031 | 030 | 057 2.88
20 | 11 x7 4000 | Méx1 | 102 | 0120
79 000 | Mex 2827 | 44.28| 053 | 0.70 | 0.68 | 0.89 2.88
31.38 | 4249 | 059 | 049 | 048 | 1.0 4.45
20| 14 X9 x 121 4000 | MEx1 | 10 | D120 s es e T 080 [ 102 | 110 | 1.66 | 445
4360 | 57.83| 094 | 074 | 0.72 | 150 6.25
20 | 14 <9 12 4000 | MEx 1) 1LS | D120 1 o e e 4 [ 160 | 164 | 254 6.25
57.98 | 75.56 | 2.12 | 167 | 1.65 | 227 9.60
225| 20 x 14x 17 | 4000 |M8x 1.25| 144 |01l
e * 77.04 |113.33 | 3.18 | 3.70 | 3.66 | 342 9.60
BAGI : mm
0oooooooon ooo
2500 3000 3500 4000 | pooo
‘ 2q80 ‘ 2290 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 2890 ‘ 29‘20 ‘ 3q40 ‘ 31‘60 ‘ 32‘80 ‘ 3490 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090
4000
2‘020‘ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31b0 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37b0 ‘ 38‘20 ‘ 39‘40 ‘

2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
Tttt 4000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
2‘020‘ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 2590 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31P0 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40 ‘

4000
‘ 20‘80 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 30‘40 ‘ 31‘60 ‘ 32‘80 ‘ 34b0 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 40b0
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
B B B e e S B o B S e S AN B e S e e e S B e 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
-+ttt 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ] 4000
T T T T T T T T T T T T T T T T T T 1
2145 2355 2565 2775 2985 3195 3405 3615 3825 4000

219





